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*6.1 Resposta no enunciado.

*6.2 Resposta no enunciado.

6.3 Resposta no enunciado.

*6.4 Resposta:

〈m| x |n〉 =

√

h̄

2mω

[√
n δm,n−1 +

√
m δm,n+1

]

*6.5 Resposta:

∆x∆p =
h̄

2
(2n + 1)

6.6 Resposta:

b) C = e−|α|2/2, c) P (n) =
α2n

n!
e−|α|2, d) |α|2

6.7 Resposta no enunciado.

*6.8 Resposta:

dp(t)

dt
= −mω2x(t) + eE

dx(t)

dt
=

p(t)

m

x(t) = x(0) cos ωt +
1

mω
p(0) sinωt +

e

mω2
E(1 − cos ωt)

p(t) = p(0) cos ωt− mω x(0) sin ωt +
e

mω
E sin ωt

6.9 Resposta no enunciado.

6.10 Resposta no enunciado. Ver também o programa de mathematica na página da
disciplina.
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